ort Answer Type Questions
w::at Jo you understand by Accounting Ratio?
whet meant by Ratio Analysis? (Delhi 2001 C)

yhat = limitations of Rati ;
py two ! atio Analysis. (Delhi 2001, NCERT)
(Al 2010 C)

{el
1'
2.

t 15

a

y ?:: ine imitations of Ratio Analysis regarding qualitative

5 atis the main advantage of Ratio Analysis? aspect. (12010 O
2 \::ate the various Ways by which a ratio can be expressed

I any tWo limitations of Ratio Analysis. ;

) 3;:; ic qQuick Ratio? (A1 2010 C)

0 . of a company is 1.5 : 1 :
ik Ratio © y is 1.5 : 1. State with re ) ;
r iﬁt)w:JFIJrove, -educe or not change the ratio. ason, whether the purchase of inventory for cash will

« Ratio of @ company is 1.5 : 1. State with reas i .
ato of 2 RS T on, whether cash collected against Trade Receivables

is meant by ‘Liquidity of Business'?
s ; (Delhi 2016)
measured by Liquidity Ratios?
e ratios that indicate the liquidity of an enterprise
t by Current Assets?
ms which are included in Current Assets.
hich are not included in Current Assets to compute Current Ratio.
Current Ratio is 2 : 1, state giving reason whether the ratio will improve, decline or

. QU

woul
3, What
4, What 15
5, Namé th
6, What is mean
{7, State any two ite
18, State two items W

19, Assuming that the

4il have no change in case a Bill Receivable is dishonoured. (Sample Paper I, 2009)

0. Current Ratio of a company is 3 : 1. State with reason, whether the payment of T 20,000 to the creditors
(Al 2009 O)

will increase, decrease or not change the ratio.
21, Quick Ratio of a company is 1.5 : 1. State giving reason, whether the ratio will improve, decline or not
change on payment of dividend by the company. (Delhi 2008)

2. Current Ratio of a company is 3 : 1.5tate with reason,

reduce or not change the ratio.
3, Current Ratio of a company. is 2 : 1. State with reason, whether office equipment sold for
24000 (book value % 5,000) would improve, reduce or not change the ratio.

4, State two Current Assets, which are not considered to be Liquid Assets.
petter indicator of liquidity position of a firm?

3. Out of Current Ratio and Liquid Ratio, which ratio is
% What is meant by ‘Solvency of Business? (Delhi 2016)

whether the payment of dividend would improve,

2, (] : :
27 List any three important Solvency Ratios. ] !
8 How the solvency of a business is assessed by Financial Statement Analysis? . (Delhi 2010)
0, Assuming that the Debt to Equity Ratio is 1 : 2, state giving reason, whether the ratio will improve, decline
. o will have no change in case Equity Shares ar¢ issued for cash. 54 . (SG'TP;e Paper ”é §009)
 Debt to Equity Rati : i ot of conversion of debenture into Preference Shares
S ri?ilcl)l;fy Ratio of X Ltd.is 1:2. Whatis the eff (Forelgn 2006

i : btained by the compan
: ther the long-term loan © y pany

g : 1. State whe A112008)

+ D :
wfl?t 10 Equity Ratio of a company is 0. j
2 Wh "ﬂprove’ decrease or not change the ratio. i
: hat Is the objective of computing Total Assets tO Debt Ratio
Y Zt IS meant by Long-term Debts?
¥ tdoes Proprietary Ratio indicate?

. Wha
t :
does a low Proprietary Ratio mean?

ik

Scanned by CamScan

NG
ME‘L‘"Z.-,‘P.‘ Aty g

ner



36. Proprietary Ratio of a company is 0.7

37

38.
39,
40.
41.
42.

43.

44,
45,
46.
47.
48.
49.
50.

512
o2
53.
54.
B5S
56.
57.
58.
59.
60.

Short Answer Type Questions

1. What do you mean by Accounting Ratio? How are they useful?

O U A w N

m loan obtained by the COmp,

improve, decrease or not change the ratio. } :
What is meant by ‘Activity Ratios’? e s Wz 1
What does a low Trade Receivables Turnover Ratio indicate!
What does a low Working Capital Turnover Ratio indicate?

; ?
How is Inventory Turnover Ratio computed?

1. State whether long-ter

How is Average Inventory computed?

n T Rati ny is 3 times.
Inve tory or Stock Turnover Ratio of a company 15 o

i ease In
improves, declines or does not change because of incr

State giving reason, Whe’the, th L
the value of closing stock by % 500y
1%

: i imes. State with reas b

Trade Receivables or Debtors’ Turnover Ratio of a compan)'/ is 6 tlmlee i ;2’ Whethg;é,
ratio will improve, decrease or not change due to increase In the valu g y “;,4

(Forejgn 1.
What is meant by ‘Profitability of Business'?
How can the profitability of a firm be measured?
State two Profitability Ratios based on sales.
What is Gross Profit?
What is Operating Profit?
What does Gross Profit Ratio indicate?

Gross Profit Ratio of a company is 50%. State with reason, whether the decrease in rent ré;'g
< 15,000 will increase, decrease or not change the ratio. (Dé_lh

What is Operating Cost? S
Name the ratio which shows the relationship between Operating Profit and Net Sales. -
What is the objective of computing Operating Profit Ratio?

What is meant by Operating Expenses?

What will be the Operating Profit Ratio, if Operating Ratio is 88.94%?

Name the Profitability Ratio based on investment.

What is the meaning of Investment’ for the purpose of ‘Return on Investment’ ratio?
How is ‘Capital Employed’ calculated?

What doe_s ‘Return on Investment’ ratio indicate?

A company has earned ¥ 5,00,000 as profit before int

erest and tax. Its Return on Investmentis
the Capital Employed in the company.

What are the main objects of computation of Accounting Ratio?
What are the various types of ratios?

Explain any two limitations of Ratio Analysis,
Give any three advantages of Ratio Analysis,

“Accounting Ratios ignore qualitatiy

e factors and are alsg not if different fir
policies.” Comment. comparable if diffe
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